A query is a view with a distinguished answer/n relation:
answer (Emp,Mgr) < employee(Emp, Salary, Deptlo), dept(DeptNo,Mgr)
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DATALOG: Examples for Relational Operations

3
Relational operations have concise representations! Examples: ; C )
x=a,yix \F

sel(X,Y) :- p(X,Y), X=a, not X=Y. % SELECT some tuples from p(X,Y)

proj(X) = pX,V). % PROJECT on the first argument Z—T (P)
M X
join(X,Y,Z) :- p(LXST(Y_,z_). % JOIN p(A,B), q(C,D) s.t. B=C p Xy p(A) 9 3 é]
prod(X,Y) - p(X), q(¥). % PRODUCT of p(X) and q(¥) i X 7
intersect(X) :— p(X), qX). % INTERSECTION of p(X), q(X)
diff(X) - p(X), not qX). % SET-DIFFERENCE: p(X) \ q(X)
union(X) :- p(X). % UNION of p(X), ...
union(X) :- q(X). % ... and q(X)

Rules have a “logical reading” (i.e., rules are formulas):

VX (diff(X) « p(X)A—q(X)).
VX (union(X) <« p(X)Vvaq(X)).
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